Kingswood Early Years Centre, Briar Road, Watford W = D25 0DX
Nursery Tel/Fax: 01923 672531  Pre-School Tel: 01923 679500
www.kingswood.herts.sch.uk
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Many thanks to Carole, one of our governors who has
been taking them all home to count!
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Tax free childcare launch and 30 hours free childca
The Department for Education (DfE) has announced the launch date for the

new tax free childcare scheme.
From the 28 April, parents with the youngest children will be able to apply for tax free
childcare. Parents can also pre-register for email alerts, letting them know when they
will be able to apply, on the government’s new website Childcare Choices.

More information on the tax free childcare launch can be found here.
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30 hours free childcare eligibility checker

Eligibility for the 30 hours free childcare entitlement will be determined by the HMRC
eligibility checker. The checker will be rolled out in phases and parents can sign up to

receive an email notification when it is available to them, this is available on the
childcare choices website www.childcarechoices.gov.uk.

The eligibility checker will be available to parents within the

hours
fr'ee summer term and will be found on our parent’'s webpage when it is
available www.hertfordshire.gov.uk/parents.
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Help paying for childcare
Logi through all the help on offer,
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